BORILLA oPORTS

DELUXE INVERSION TABLE (100330)




“PUORILLA oPORTS

Nut: (M8) Washer: (¢8)
© ©
277X 30x
Hex Bolt: (M8%48) Hex Bolt: (M8+15)
[T )
Hex Bolt: (M8*38) Hex Bolt: (M8%20)
I 1 i
Hex Bolt: (M8+%33) Hex Bolt: (M8+%30)
1 I
Ball PIN: (#8%50) Ball PIN: (#8%35)

(O Up O




“DUORILLA oPORTS

152.5

Dimensions complete: 203 cm x 65.5 cm x 152.5 cm
Maximum loading: 110KG




1 S

Hex Bolt (M8%33)—-6PCS

N
Y.

Nut (M8) —-6PCS  Washer (#8) —6PCS




% mm  (O)

Hex Bolt (M8+%33)-4PCS  Washer (#8)—-8PCS

mmm  (O)

X~

Hex Bolt (M8%30)-4PCS  Nut (M8)—8PCS




9 mm  (©O)

Hex Bolt (M8*38)-4PCS Washer (#8)—4PCS

/N -
o O
" o

Ball PIN: (#8+%35)—1PCS  Nut (M8)-4PCS




Hex Bolt (M8%20)—-4PCS

4PCS

Nut (M8) -

©

Washer (8)

—4PCS




5 o 1

Hex Bolt (M8%*33)—-4PCS

AN

7 N\
\—/

Nut (M8) —4PCS

©

Washer (¢8) —4PCS




SOdT- (8I) 37N
7Y
\—/

SOdE— (STx8I) 3 10d XOH

SOdy— (8@) IoYSep

SOdT— (87*8I) 310d X9H




7 P —

Ball PIN(@8%50)—-1PCS




